14.50 | 14.70 |

Osov
51.80

20.30

Komunikace KSUS lll/11549—asfalt

48.20

57.80

|Nep|0d.pt‘1da|
10.80

Pole

/eleznice
25.70

Pole

it

20.00

Komunikace KSUS Ill/11549—asfalt ——

74.20

Komunikace KSUS Ill/11549n—asfalt

119.60

Mistn komunikace—asfalt

28.60

35.20

Mistn? komunikace—$t&rk

43.50

Skipel

|Nep|0dApt‘1da|
17.90 |

Pole

-

500,/100

Gzemi

VYTLACNY RAD A — 1.&8st

MERITKO 1

Druh povrchu
Vzdalenost smérovych lomd
PODELNY PROFIL

Katastraini

006Ng ¥1sndo &/ / G9'L — £0'G98 — L6785 — 29988 —~ | -01'G8 Z A
! \ G9'L — Y0'G8¢ — V6485 — 6G98¢ —F01'¥8 = " ol o
Y61 G9'l — 00'Ge¢ — 0648¢ — GG'98¢ 0878 (= Sl ANRNIE -
2 r 2|35 &lRls] ==
. IS\ M I Slols|3
= 31= ale|8|=
_ N HE -
[ w | & =z
=l HE |5
¢ J1513 NS
b > ME: AE1ELE
V=11 6L — 1688 — 18'85 — 0968 ————01'89 | | nes ANEE E
0 o 22| z|klz
R o (ool =a
> .
27 < |z
TR o| |8
M T N <« z|> 3
. _ . . e |I= Z 2151zl IR
Vg1 G9'l — £8'788 — ££°78¢ — 8EY8E —09S [ ¥ = 21813 |3 > w
: WLzEE 5 32 |&
T lElg] 1Bl L= | <
NN 1USpeA JUWOZPDN e G9'l — 16788 — 14788 — 90788 ———0v'LY > IEE o 22 |2
Q0535 o 2O |=
[ 3 el = om =
Y ¥« £ 2l =S >
S 3 w 7
DI 5 o - o L L L
o~ 0 < ul O O O
= ¥ | 2.2 <= < | =&
. . . . . Lo R AR > < O
G9'L — 08'188 — 0L18F — GE'eee —05ee (2 L Elz2EY =5 |
™~ 31=1Eg] W R
= sigl2lg] 8= =35
ra = = M o= (@ INTY
g|8|Z] © O < N
— O > - O R P
- gl 8% |5
X 2| I3g] 26
X | x N
| L s < |2 3 o o
S SIE|=15] 2o |o
o) Q|9 Ox |o»n
gi=|s =
14 gz 2ld]s
o HEEEE )
AELEI B %
; eI £
V=211 G9'L — /8088 — L1088 — TT8E 08l (S !
v |
/ / =i
NN 1UopoA JUWOZPDN mem G9'L — £9'08¢ — £G08¢ — 81°78¢ —08'%6 /_ <
/ S )
| = —
o
_ PLY0r —Ay'0- — 29207 — 26707 — LW —— 9 =
. S | N
: _ : : e | 3 £1'90y —£80- — 19707 — 15707 — 8170 026 |
o o|a ~N =
- — 817~ 1120y — 890 — ¥9'L0Y — ¥§'LOY — ZTT0 06t |2
S J AN [0} — 9710y — 91'L0¥ — €200 —057 [
= asy (P L 0Kl — szior— Shioy— sy ——O =
| (=) ~
_ o «— > S m 0. &
o = 4 m ~ ,m S = o
G9'L — 29'6/8 — TS6L8 — L1°18¢ 0619 (S S rnw o m ks 5 . =
= — — - >
©Q c 2 RvMRﬂ To) o o = o I d,
s L Qxte - S 2 2 o < s € =5
525 c o b = 0 o~ o=
—S5 P o= s £ & T = . Bs
2y =ZZQ S S S S So =
33 OX = = c NS, SR =
Cac wl M = = £ < o % O Q
2 .5 O < c 2 c =
O C\O =) > =) ) ) > S =
558 o%d g 3 & & 2 88 2%
o> o = X T X X X %% o a
V=011 6L'L — 00'6/8 — 06'8LE — 69°08¢ —oeee | |
/_ _
\ Z X
= o
<
= \ b1'¥0y —6£0- — 6520y — 67°207 — 0170 HHM.I =g
= ¥-621 \ 2190y —08°0- — [ST07 — L4T0Y — L1°T0¥ 0966 (={
o 22
. <~
— «©
©
SOHS G6'L — 9£'8/8 — 97'8L8 — 1708¢ 007 (S
\ <+ |
0. (&N
00ENQ faysndosd —— 88'L — ¥S'8LE — ¥¥'8LE — 7£°08E —0v'L6
= &
87
~
N
|
8Y'L0y — 650 — S$6'665 — £8'665 — Zv 00 —0.69
=
Q
a
X
¥-61 G9'L — L1'B/§ — L0615 — 71088 05sL |
S0 _ §O'C— L1815 — (9815 — 11085 ~— 1019 f=]
: N 81'C — 79'8/€ — G8/F — O0L'08¢ 09CL |5
) 6v'L — 0G'LLS — OV'L1S — BY'BLS 0069 (=
\ 9] — 6V LIS — 68118 — 006/ ——[—0089 |
S0 19’} — 8¥'LLE — 8€°L1S — SO'6LE 009 (=
¥-81 \ A =
w
[@N]
S o
= 28'L — 0G'LLE — O¥'LLS — TT6LE 0185 =
E=AN %V
- o YO'e — IG'LLE — LIS — Gh08E —09'%G s <~
= : . . . . G9'L — £8'96¢ — £/'968 — 85865 oLvs |8
fejoy pso = £6°¢ — CGLLE — TrLLe — G6108E —okes |y — (A A : Gyl — IB96¢ — 12965 — 9586 ——— 04 ]
S o 687 — £G'LLE — S¥LLS — TE08E —09'6% = / / <
O >0 2 )
o c . . . . . «© =5
2 g §91 — vGLLE— vyl — B0BLE R — V£ G9'L — 0G'96¢ — 0¥'96 — GO'865 0087 =
© <
! 3 S
=[] I £8'L — 9G'LLE — 9V'LLS — BTBLE 0068 s
[c@)
16} — \GLLE — LLLIS — 8T6LE ——0098 |
697 — 60'8/8 — 66'LLS — 89°08¢ —o00ee |
= o
/ ! . . . . o |7 3
— 08'L — 0£'8/8 — 09'8/8 — O¥'08¢ 0097 = 3
o0 !
S ge @
& £
v-97 s YLl — 2L8L8 — T9BLE — 9£08E —00'6) ®
£90 LA POAOPOA =S €L — 78§ — 198/ — GE08E —oczL | =
R
o
=g ) =
0 1S 58 §9' — GL'8/§ — G9'8LE — 0£'08E 06t SO} — SES6E — GvS6E — 0L26¢ NS
2% 3 Z
yersndold I.H G9'l — £1'8/§ — £9'8/¢ — 8708 —08'|
= M
m =
|
99'L — 0£'8/8 — 09'8/§ — 97°08¢ 016
=
~>
e}
|
99'L — 60'¥6¢ — 66'C68 — G9'G6E 0866
v-S1 . . : : we |
0K YL — 9G'8/8 — 9¥°'8LE — 07088 — 081y =]
: .
O
- S9'L — Y76 — Y9768 — 6TY6S 0177
M
(A :
- 99'L — 1576 — b6 — L0V6E 091
0L’} — 06'16¢ — 08'L6E — 0G'€68 —09°
Q |-
: : ) ) < o
poig \ G9'L — GG'L6E — GbL6E — 01'€6E 086 (S
— V=121 107 — 7516 — Tb'L6E — £h'E68 0596 |
8L'L — TL'8LE — T9'8LE — 6S08E —00G
N
o
6L'L — 9L'8/8 — 99'8/§ — G¥'08E —01c6 S
= %
it G9'L — YE'L6E — ¥7'L6E — 68768 —o0geL (S
(@]
23
«©
— V=121 09’} — 2L'06¢ — 79°068 — 22768 —0£'S
(e
=
ae!
— v-021 95'L — 9Z'06¢ — 91°068 — ZL16S —0L'Th
(@]
o
_ =
— V=611 65| — G8'688 — G688 — ¥E'L6S —07'LE
(@]
<
=
— V=811 29'L — 9v'68¢ — 9£'68F — 86065 —0v'0¢
0
V1] G9'L — £0'6LE — £6'8/8 — 8S08E —02'5? GOl — 00686 — (0B'99C — SC0BE e |2
o o
- M
[«
© N~
= o
&
99'L — 0L'6/8 — 00'6L8 — £9°08¢ 09
.
oS
¥=¢1 19’} — SV'BLE — S0'6L8 — 0L°08¢ —09'96
]
=
> e}
A:.
G9'L — Gv'B8E — GE'88E — 00068 —0L0L F=
-
~
©
M
SOKS G9'L — 97'6/8 — 91'6L8 — 18°08¢ V19 =]
V-C1 ¥
w
o~
G9'L — QL'BLE — 90°6L8 — 1L°08¢ 014G 3
[c@]
2
! — V=L £9'L — 6/'98¢ — 69°985 — 7£'98¢ —08'62
e
G9'l — 06'8/8 — 08'8/F — GY088 ——08'CF (=
> S8
= ~
(@]
|
O
G9'L — 1£'8/8 — T8/ — 99'6LS 0621 |3 — V=911 b9'L — S9°G8E — GG'G8T — 6188 007
V=11~ \ 8L — 99I¢ — 9L'art — YIS ~——1/0891 (o © |
L'} — 28§ — TL'8LE — £86LE 019l |2 . . . . e
N G9'L — P¥'G8E — E'S8E — 66988 006 [
[e®) .
LVL— [61LS — 811§ — YO'6LS 0601 (= = =
3| =z S
— R «© |
i= % =
Lol _ o . . . . . .
S ER e == i
. . . . M= Ve I \ . . . . . )
059 (P 60'L — SELLE — SBLLS— V8IS ——O - ) ¥-511 G9'L — 00'GeE — 06'¥8F — 6G98¢ g8 ™
N
= 8 2 o S
= = c 8 I S %2 c
2 > =4 o = ] «— > 5 >
N N c o e = <C ™~ o \© = 2
o 5 = L L o o o 5 =
- . + o > e g — 2 o o - . -+ s > e g
o 5 = - o ’ £ 2 XL o ° 2 o c - ]
S 2 = § £ g 2s s 2 ok $ 2 = § £ 3S£ Z=2s
arhv Q. e < < S = X \O N S & L on.v Q. e 3 < S < X \O
) 2 o > 2 = 0 5 S =0 - ) 2 o > 2 = D05
o S — - O V- o < = o ©
s = S S =2y ZZQ s = g gz S
5 =) =) O o Jy s & S 3 o 750 X S = =) \O o= s €
> i S S © S 8 B sSas Wl M_“ > i S © © S 8 B
= 3 g =2 =2 £5 5% S<g wmm s 3 g =2 = 55 5%
2 T 2 2 2 X% > @ oY aAsS= g = 2 2 2 k% > @

HDPE D32-13.40 ‘




